© 2024 Hansa Armaturen GmbH - www.hansa.com - 03.04.2024

43102201 HANSAMEDICA - Washbasin faucet

EAN: 4015474107083
statichansa.com/43102201

Spare parts

SP43102201
Name Code

11 Gasket, 37x48x3.5 59911422
12 Fixing plate 59904765
13 Screw, M8x1, SW13 59904766
14 Fixing set 59910749
15 Flexible pipe, L=430, G3/8-M10x1 59912515
16 Gasket, 9.5x14.4x2 59912551
17 0-ring, d 7.65x1.78 59902337
18 Litter filter 59911684
19 Fixing screw, M8x1, L=140 59912474
2 Lever Chrome 59912810
21 Screw, M6x20 59911228
22 Retaining ring Chrome 59912809
23 Lever, 80 mm Chrome 59912128
24 Lock ring Chrome 59912811
25 Screw, M6x9.5 59901609
2.6 Cover plug Chrome 59911840
3 Eye screw, M42x1, SW38 59912812
4 Thermostatic cartridge, 4.0 [P EMMIEY 5990450101
5.1 Pop-up operating rod Chrome 59912804
52 Swivel joint 59904624
6 Aerator, M24x1 Z Chrome 59906826
6.1 Aerator, M22/24, Z 59906830
8 Pop-up waste Chrome 59911441

1


https://static.hansa.com/43102201

